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o Questlons 1 to 10 carry 1 mark each. Questaons 111015 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or4). Shade the correct oval (1, 2, 3 or 4) on the

: -Opttcal Answer Sheet. , (20 marks)

1 Find the value of 5x 12 +48 x 10 + 5,

(1) 156
@2 216

(3 540

(4) 600

2 692 x 500 = 700 x 500 -

What is the missing number in the box?

() 400
@ 900
(3) 4000
@) 9000

3 Mother uséd % m of cloth to make a doll and she had % m of cloth left. H_.ow
much cloth did she have at first?

W Hm
@ ogm
5
@) gm
@ aqm

2 - {Go on to the next page)



Whatis 75 in decimal?

(1) 625

2 16

(3) 0.16

(4) 0.016
4+1000=04 +

What is the missing number in the box?

() 0.0
@ 0.1
(@) 10
@) 100

8 out of 40 cats are male and the rest are female. What percentage of the
cats is male?

() 207
@ 257
(3) 80y,
@ 83y

A vase cost $50 before GST. A customer bought the vase and paid an
additional 7% GST. How much was the GST?

(1) $0.30
) $0.70
(3) $3.50
@  $7.00

3 {Go on to the next page)



8 20: | :35=16:20:28"

What is the missing number in the box?

1y 24
@ 25
@ 26
@ 27

9  AB, CD and OE are straight lines. 2g = £h. Find Zg.

(1) 29°
(2 30°
@ 34
(4  58°

4¢ A number when rounded to the nearest hundred is 10 200.
Which one of the following is a possible number?

(1 10115
(2) 10148
(3 10167
4y 10251

4 (Go on to the next page)



11 A rectangular tank measuring 100 cm by 70 em by 60 cm was% - filled with
- water. How much water was there in the tank?

(1) 84t

@2 336¢
(3) 384¢
@) 420¢

12  Inthe figure below, DEFG is a rectangle and DH = HE. What is the ratio of
- - the area of triangle DHG to the area of triangle DFG.

D : H E

(1)
@
@
)

Q)(\)-\-—t
- e N

=43  Meiling gave % of her sélary to her mother and saved %of the remainder.
What fraction of her salary did she save?

0 =
1
@ 3
@
17
@ 20

5 {Go on to the next page)



14

15

The length and breadth of a rectangle are % m and -1% mrespectively. What

is the area of the rectangle?

M g5 m
@ 5w
3) -}% m?
@ 1 m

Find £BEC.
B c
(1)  36°
2 54
(3) o
@ 137

 In the figure below, AD is a straight line. ZAEC = 119° and £BED = 155°,

£ i men o Y mirlanéd [2)
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. ' (5 marks)

16  Round 500 782 to the nearest thousand.

Ans:

Do not write

in this space

47 6278+ |=6278

What is the missing number in the box?

Ans:

18  Express 3 km 4 m in kilometres.

Ans:




19  Whatis 256% of 300? ’ Do not write
in this space

Ans:

20 Find the area of the unshaded region.

1cm
A

Ans: cm?

(Go on to the next page)



Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your ansWers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 Ranihad 210 fruits altogether. ?;- of the fruits were apples and % of the
remainder were oranges. How many oranges did she have?

Ans:

22 Méiﬁng deposited $20 000 in a fixed deposit account which pays an
interest of 2% per year. How much money did she have in her account

at the end of one year?

Ans: $

Do not write
in this space




23 Ramad had 150 keychains. He gave away 40% of his keychatns | Do not wiite

How many keychains had he left? in this space

Ans:

24  Tom, Bob and Ali have some stamps inthe ratioof 3:6 : 2,
They have a total of 187 stamps. How many stamps does Bob have?

-

Ans:

5 (Go on to the next page)



25" Study the diagram below and answer the following questions. Do notwrite
' ' in this space

D
A
-, \¥

A -
(a) DEis the height of triangle ACE.
Name the line that represents the base of the same triangle.

(b} AE is the base of triangle ACE.
Name the line that represents the height of the same friangie.

Ans: (a) Base:
{b} Height:

26  Mary’s mother gave her $76 in February. She spent all her money
during recess from Monday to Friday. There were 4 weeks in that
month. What was the average amount of money Mary spentona -
weekday?

Ans: $

0D F 7 2.V N | TR NG ¥



27 Thefigure below is formed by 2 equilateral triangles.
- Findzc+ed+ Le+sf+sg+ £h.

RVa
K X
\4

Do not write
in this space

Ans: ‘ °

28  The table below shows the number of cars sold by Blackmore Company |
from January to May. The average number of cars sold per month
was 30. How many cars were sold in the month of April?

N Month Nu’mbqr of Cars
January '40
February ' 13
March | 25
April ?
May 38
Ans:

7 (Go on to the next page)



29

Mrs Tang needs 2.05 kg of flour to bake a cake and 1.5 kg of flour o

bake 12 cupcakes. How much flour would she need {o bake 2 cakes

and 6 cupcakes?

Ans:

kg

Do not write
~ In this space

30 The box below is filled with sand to a height of 40 cm.

50 cm |

20 cm

35cm

Each statement below is either true, false, or not possible to tell from the |

information given. For each statement, put a tick (v') in the correct

column.

Statement

True

Failse

Not possible to tell

2 of the box is not filed with

sand.

If the length, breadth and
height of the box is increased
by 2 cm each, the volume of

the box is increased by 8 cm?.

~ END OF PAPER

fo)
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Questions 1 t_d 5 carry 2 marks each. Show your working clearly and
write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. (10 marks)

1 Rambutans were sold at $3 per kilogram. Siti paid $15.60 for her
~rambutans. Jenny paid $28.20 for her rambutans.
How many more kilograms of rambutans did Jenny buy than Siti?

Ans: kg

Do not write
in this space

2 Terry bought a car for $153 000. He made a deposit of $75 000. He then|

paid the remaining amount in equal monthly payments over 6 months.
How much was the monthly payment?

Ans: $




3 There were 420 people in an auditorium. 126 of the people were Do not write
' ch,ildr‘en-. What percentage of the people were adults? in this space

Ans: %

4 -The ratio of the number of males to the number of females on a train was
7:3. After12 females alighted from the train and another 12 males
boarded the train, the ratio of the number of males to the number of
females became 4 : 1. Find the number of males in the train at first.

<

Ans:

3 (Go on to the next page)



,‘ - . : . ‘ . . » s : y " 1 o . ‘_ . °
5 A Sclence competition had 84 winners. 7 of the winners won either Do not write
in this space

b_ronie or gold medals. %of the winners won either gold or silver

medals. How many of the winners won gold medals?

Ans:.

a4 {Go on o the next nade)



For questions 6 fo 17, show your working clearly and write your answers in the
“space provided. The number of marks available is shown in brackets [ ] at
~the end of each question or part-question. (45 marks)

6 In 2001, Donny was 10 years old and his father was 52 years old.
In which year was Donny’s father 8 times as old as Donny?

Ans: [3]

Do not write
in this space

7 Penny read % of a story book in the morning. In the afternoon, she read
another 100 pages. After that, she had % of the book left to read.

How many pages were there in the book?

Ans: i3]

5 (Go on to the next page)



8 Inthe diagram below, ABCD is a rectangle and ECD is an isosceles | Do not write

e i ) in this space
triangle. £LDEC = 35°. Find LEDA. £

A 35° B

Ans: [3]

9 PQRS is a rhombus of sides 13 cm. Points T and U are the mid-points
of lines PQ and SR respectively. QV =12 cm. Find the area of the

shaded region. b

T Q

!

]
:12 cm

i

B |

in

S U RV

~ Ans: 3]

6 (Go on to the next page)



10

The solid below is made up of 1-cm cubes.

Do not write
in this space

(a) Draw the side view of the solid in the gfid provided.
(b) What is the volume of the solid below?
(c) How many more cubes are needed to build a cube with sides 4 cm?
{
W
Side View
(a)
{1
Ans: (b) __ 1]
(c) {1

. {Go on to the next page)



41 Abox of 5280 sweets were shared among 400 children with no

reméinder. Each girl received 18 sweets and each boy received
10 sweets.

(a) How many girls were there?
(b) How many boys were there?

Do not write
in this space

Ans: (a) | {3]
(b) (11

2 ({Go on to the next naage)



Do not write

12 MrLim has 1350 bags. He sold " of the bags on Monday and 126 bags | - space

on Tﬁesday. What percentage of the bags did he sell in total?

Ans: R

9 (Go on fo the next page)



i

13 Mrs Tan placed an order for some necklaces and bracelets forasum of | Do notwrite

$63 700. Each bracelet cost $2450 and each necklace cost twice as In this space
much as a bracelet. Mrs Tan ordered 7 necklaces more than bracelets.

(2) How many bracelets did Mrs Tan order?
(b) How many necklaces did Mrs Tan order?

Ans:(a) ____ (2]
(b) _ ]

10 (Go on to the next page)



4

. Aninstructor had some counters to hand out to his participants. .

Sty Do not write
If he gave each participant 11 counters, he would have 5 extra counters. |  in this space

If he gave each participant 15 counters, he would be short of 175
counters.

(a) Hé)w many participants were there?
(b) How many counters did the instructor have?

Ans: (a) [2]
(b) 2]

o e

11 (Go on to the next page)



’15. .

In the diagram below, ABCD is a rectangle. The length of the rectangle | Do not write

 is twice its breadth. The ratio of the length of AP to the length of AD s in this space
3:7. | |
(a) Find the length of AD. _
(b) Find the area of the shaded region.
A Q R B
P S
D T C
) 42 cm i
Ans: (a) [1]
(b) [4]

12 (Go on to the next page)



16

In the figure below, DEFG is a trapezium and FGH is a triangle.

_ Do not write
GF=FH. - in this space
(a) Name two angles that are equal to ZDEG.

(b) Find ZHED. H
E
D
)
53
G F
Ans: (a) & M
(b [31

13 (Go on to the next page)



7

A recfangular tank 80 cm by 55 cm by 75 cm contained some water.

Raja poured in another 112 £ of water and the tank becameza' - full,

(a) How much water was in the tank at first?

(b) Mary then poured some more water into the tank and 1 500 mt of
water overflowed. How much water did Mary pour in?
Give both answers in litres. ‘

Ans: (a)
(b)

End of Paper 2

(3]
(21

Do not write
in this space
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. Questnons 16 to 20carry 1'mark each. Wnte your answers in the spaces
" provided. For questions which require units, give your answers in the units
~ stated. ' '

(5 marks) |

Y ,
16 Round 500 782 to the nearest thousand.

Ans:

17 6278+ =6.278

What is the missing number in the box?

e 100

5148  Express 3 km 4 m in kilometres.

ans: 3+ OO0

2 (Go onto the next page)

_km|

Do not write
in this space




19 Whatis 25% of 300?

e X

Ans: __

Do not write
in this space

: @ Find the area of the unshaded region.

1cecm

Ans:

{Q‘g _cm? |

(Go on to the next page)



«Questlons 21 to 30 carry 2 marks each. Show your working clearly andwrite | Do notwrite
your answers in the spaces provided. For questzons which require units, give |  in this space

: your answers in the umts stated. (20 marks)

21 Ranihad 210 fl’UltS a!together 3 of the fruuts were apples and g of the
remainder were oranges. How many oranges did she have?

21037 =30
30X 3 = ‘?O(A) ‘

_ 22 ‘Meiling depci_si'ted"$265000 in a fixed deposit account whichpays an
interest of 2% per year. : How much money did she have in her account
at the end of one year?

2 20088 | Gk
= 400 /99"
mi - $QOZ+OO
20 000 + 400 i

She had $20400

Al
Ans: $ 20[[‘00

4 (Go on to the next page)



-~ 23  Ramad had 150 keychains. He gave away 40% of hls keychains.
‘ How many keychains had he left?

4

| OR |
4g\x 8.,

o

150~ 60 = 90

pirm———

He hatl j__q_ /’Caqoha‘fw L@Cf.

Do not write
in this space

24 Tom, Boband Ali have some stamps intheratioof 3:6: 2.
- They have a total of 187 stamps. How many stamps does Bob have?

=102

Al
as: (02

(Go on to the next page)



"“25 Study the diagram below and answer the following questions. '{ Do not write
- }. inthis space

(a) DEis the height of triangle ACE.
Name the line that represents the base of the same triangle.

(b)  AE s the base of triangle ACE.
Name the line that represents the height of the same triangle.

Al

Ans: (a) Base

@ veight CE -/ EC

26 Mary’s mother gave her $76 in Februéry She spent all her money
during recess from Monday to Friday. There were 4 weeks in that
month. What was the average amount of money Mary spenton a

weekday?
4 x 5 =20 |
m Py
$76 +20:=$76%2+10

e av Wgﬂ was $3 30

6 (Go on to the next page)



5

27
Find z.c+4d+z.e+z:f+/_g+/_h

The figure below is formed by 2 equilateral tnang!es

190 °~4o°=
Z CZ 401 :Z@: LF:[ﬁ:

20
mi

190" % 6= 720 ’

The sum 53 z‘g-Q—*e

28

from January to May. The average number of cars sold per month
was 30. How many cars were sold in the month of April?

“Number of Cars

Jvénuary

February

13 j

~March

20X 5 =150

10 ~(40+13+25 438)

= 150 -
34

. VRIS
QY cars were § ,

116

—

The table below shows the number of cars sold by B¥ackmore Company

Al

34

.Ans: A

Do not write
in this space

=l2q

° ZC?c—i / 200*”-“‘/1/! ,

(Go on to the next page)



5.‘29

Mrs Tang needs 2. 05 kg of flour to bake a.cake and 1.5 kg of ﬂour to

bake 12 cupcakes. How muchTiour would she need to bake 2 cakes
and 6 cupcakes? .

2.05%x 2= 4.1

4140615 = 4.85

She WOuld Med 4 85
O('\ ﬂC lour .

Do not write
in this space

30 The bdx below is filled with sand to a height of 40 cm.

50 cm

20 cm

35' ém

Each statement below is either true, false, or not possible to tell from the

information given. For each statement, put a tick (v') in the correct
column.

% of the box is not filled with | Y4

sand

“f the length, breadth and ) :
height of the box is increased -
by 2 cm each, the volume of | \/ 5
the box is increased by 8 cm?,

END OF PAPER
8

“Not possmle to tell
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ow your working clearly and

B A Rttt Sl ° . Do not write
write your answers in the spaces provided. For questions which require in this space
units, give your answers in the units stated. (10 marks) |

paid $15.60 for her

| How many more kilograms of rar

5.6=3 =52 -
28.2 “%' 3 ! (?&L'[fﬁ ‘.

?a q’ - 5(2 = 44 2— - i

g R

h.

it

2 Terry bought a car for $153 000. He made a deposit of $75 000 He th_en_j
paid the remaining amount in equal monthly.payments over 6 m?ﬂths-
How much was the:monthly payment?..

(653 000-75000 = 78 000
73000 56 = 13000 ——MI,A]

I+ was w

Ans: § / 3 000

2 {(Go on to the next page)



3

There weré 420 people in an auditorium. 126 of the people were I Do not write
children. What percentage of the people were aduits? | inthis space

400 =126 = 294 (Adulis)
i%‘ X /00/ 7(7 Yo i

70%0);[ e /)0.0;0[2 wWere aduit .
Ans: 70 %

The ratio of the number of males to the number of females on a train was
7:3. After 12 females ahghted from.the train and another 12 males

7‘4 = 12x]= g4 Ans: 84

Thore e 84 males CUI‘ fist.

3 (Go on to the next page)




::” .: . R f. . R L .‘5,,--5 : l : RN . Do not wﬁte
5 A Science competition had 84 -wunneyrg.v,:,\zzfgf;the-;wmners:wogz;::exther in this space

bronze or gold medals. g of the winners won either gold or silver

) medals How many of:the winfiers won goid medals?".

MQM'-- E i Mothod 2 2
Traction (Slw)=> |- Qler s 429249
Frachiom (bwnze) = |-Z | Gmld o Slper —> 5 Bx .70

?mdwm (‘50(”{)"‘9i 1= | Gold—> 70- LI«Z Q8 m—--«eMi Al

G\‘ﬂ Ni——

,J.
2
-5
A
6‘ 3
N&o'?ﬁdoi —3 j—éx 84 —i

: Ans:i ‘

4 (Go on to the next page)



For questions 6 to 17, show your working clearly and write your answers in the |

space provided. The ‘number of marks available is shown in brackets [ ]at
the end of each question or part-question.

(45 marks) i

ﬁ' In 2001, Donny was 10 years old and his father was 52 years old.
W & In which year was Donny's father B tsmes as. old as Donny'?
hangedt 2061

59-10= 42 (Agzdkf&w&)

Dl T T T
= | (0-6= t yens 29O

2001 — & i‘i"?‘j

—M1, Al

-
-

;_ 1w 1%7 D@M‘j)’ &ﬂ,@r wos 3hes ag Gﬂl{f M

m¢7

ag ‘Dcwimi .

Penny read-—zj ofa sto"‘.w'book in the morning. In the afternoon, she read |

MoM

another 100 pages. After that, she had ; of the book left to read.

Akj)_ 7= 6 (%ng;%@%} WWH

Bl |

)
i)m“} “9 How many pages were there in the book?

De not write
in this space

2.1.8 5
5*3“5*@
=
-
T 4 |
2 | i“‘“ﬁg =Tz M|
”é‘&?ioceicr——? 2u 4100 4, - 100
A of book—=> lu + 50 lu = lOO=&-~ =25
: 375]—M Al
= I00+50 = |©0 — M| Su=25x15= 22 - !
(u = 150+2 | |
- 7 375 ||
Mt .
Su = 75x5 ._
37§ H[ 5 (Go on to the next page)




- 8 In the dlagram below ABCD is a rectangle and: ECD is an |sosceles

trlangle Z_DEC 35° Flnd LEDA

LEDC 630 35)«—‘9— ___mlA.
= 79.5° B\ |

LEA= 90705 —m). A2 N,
=115 Al

(mQKEW5@J75ﬂ

Do not write
in this space

9 PQRS is a rhombus of sides 13 cm. Points T and U are the mid-points

of lines PQ and SR respectively. QV = 12 cm. Find the area of the

shaded region. | ;—-'-'1_30“-——'}
. | | Q
-Zf-xéﬁxé':lqﬁ M 12 cm |
19.5 x 2= 37 —MIA| 3
Method 2
an of ASTR X 13X12z= ]
= T8 un? i L .
e shadid area
Hren Sl’\“dld,._.']BM)’; s 2
% 3 o et
: = Ans: ,BQC&M * 3]
Metnod 3 '

iAxi2 = 156 6 ~ {Go on to the next page)



.10 The solid below is made up of 1-cm cubes.

(a) Draw the side view of the solid-in the grid provided.
(b) What is the volume of the solid below?

(c) How many more cubes are needed to build a cube with sides 4 cm?

(@)

Al

o

b) ’Toio —> |
M el —>
Boftorn. —> &

Totnd (£€t8=13
3

Tre yvelume s ! 3 CW’

<) ZFXLFXL_{#:QLF |
Ce-1325 — P 3

Do not write
in this space

e

7 (Go on to the next page)

51 more wé&% () bf ml




A box of 5280 sweets were shared among 400 children with no 1 Do not write
~remainder. Each girl received 18 sweets and each boy received { inthis space

W’\ﬁw 10 sweets.

" (a) How many girls were there?
(b) How many boys were there?

Q) 4’00)( o = Z{UOOO

5980 ~ HO0O = 1280' — M

!:28»03:68;%@): 1280+ 8 =———m|
(60 (giis)

B) 40D 160 = 2940 (bys)

Ans: (a) ‘60 "”j”/[“[:i] ’
0 240 bys

8 (Go on to the next page)



' 12 MrrLimhas 1350 bags. He s”old-i% of the bags on Monday and 126 bags

" onTuesday. What percentage of the bags did he sell in total?

gEl .4 [OOZ, = 26 Z- .

He gold 26% of fhe bags.

Ans:

26% .

Do not write
in this space

9 (Go on to the next page)



13 Mrs Tanplacedan order for some necklaces and bracelets for a sum of |
- $63 700. Each bracelet cost $2450 and each necklace cost twice as
much as a bracelet. Mrs Tan ordered 7 necklaces more than bracelets.

(a) How many bracelets did Mrs Tan order?
(b) How many necklaces did Mrs Tan order?

Cost of necklae —> §2450% 2
=¢ 4900

G)' - T move necklates —2 #4900 F
=$34300

$£3700 - $34300 429 400 —— M1 |

. pair upd

$99 400+ (2450 + M‘?a*o) By :

She ovdored 4 bracelets .

e cwlmd i @E(ace/s .

L

Ans: (a) R |

Do not write
in this space

_____ - G i BT

10 (Go on to the next page)



j - -An instructor:had some counters to hand out to his participants.
' ifhe gave each participant 11 counters, he would have 5 extra counters '

if he gave each participant 15 counters, he would be short of 175 g o,

counters. _

(8) wa many participants were there?
{b) How many counters did the instructor have?

Q) 51" (7§ = 18
(80 =+ “{,& = éig e
“Prere were 1%5 Whu PM‘S

Mt Al

[9)' 45 x || + 5 = @Q —M1 Al

o
© A5 x5 — 1752500 —MI, Al

Trere were 500 Coundters.

Ans: (a) . Lng [2]
(b) 500 2]

Do not write

in this space

11 (Go on to the next page)



15 In the diagram below, ABCD is.a rectangle. The length of the rectangle | Do not write
is twiceits breadth. The ratio of the length of AP to the length of ADis | 1 this space
A A =

/ (a) Find the length of AD.
[ (b) Find the area of the shaded region..
| Qowm
7““'—7-',_ 1
ow |- 2 Cmy

42 cm'

L@mﬂ“ﬂ AD x5 Aeowm .

2
b)  Ara 5{1 r-ec«%wgu«——a 42.x 21 = 88

Tu = 2
lu = 2"2‘733

2 = 3?‘3:’?

9 em - Tem = [ 20m

-~ preaof Tne area of
.st,és(ﬂqm)xz., 3] SWWWY
&Bis 1 dexiz = 252 'S 5Uq om ™
unghade 2
| s"‘fdﬁd 892 ~81"%520 o 21 cun ]
P“ = 549 o) 5w >
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16 Inthe ﬁgure'_below, DEFG is a trapezium and FGH is a triangle.
GF=FH.

(a) Name two angles that are equal to ZDEG.
(b) Find ZHED. H

@) LEGF aud LEH 3

Y rer - 190°-90°-53

ZD,E@ - LEGF =37"
M

(
ZH&D 560 "'37 ov f"’306“37@*m

= KSO 57 = LL{—;BO
LrGE LFHE

Ans: () ZEGF & ZEHF 1]

o 143"

- (3]

Do not write
in this space

M)
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: «:17 A recta_ngular tank 80 cm by 55 em by 75 cm contained some water. 1 Do not Write

» : 7 . inthis space
Raja poured in another 112 £ of water and the tank became g - full.

(@) How much water was in the tank at first?

(b) Mary then poured some more water into the tank and 1 500 mt of
water overflowed. How much water did Mary pour in?
Give both answers in htres

L x 80% 55 x 75 - Fx 330000 —tm]

288 150 um® = 288, 75 {

9¢8.75 — 12 = 176,15  —— M| # I

Thare wWas f7é75ﬁv éa;,.g, Lk

by Mefhad | o Meﬂaczd D

230 000 + 1500 3>< 330 OO + O »
=331 500 | 4H 250+ 1500
3315~ 288.75 —MI | =42750

= 42.75 —p 492 150l = 42. 15 LA 1

ma@ P:Oured ” w Ans: (@) | 7675}@ @1}
0 42751 | |

End of Paper 2




